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POLYNOMIALS

Exercise 2 1 Multiple Choice Questions Mcqs

1. which one of the following is a polynomial ?
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2.,/2is a polynomial of degree

A2

B.O

Answer: B

° Watch Video Solution

3. Degree of the polynomial 4zt + 023 + 02° + bz + Tis

A4
B.5

C.3


https://dl.doubtnut.com/l/_gGDHOBCGuTPC
https://dl.doubtnut.com/l/_5P2GMBWai69h
https://dl.doubtnut.com/l/_P6oVCzWZqkOm

D.7

Answer: A

° Watch Video Solution

4. Degree of the zero polynomial is

A0

B.1

C. any natural number

D. not defined

Answer: D

° Watch Video Solution

5.1f p(z) = 22 — 2¢/2x + 1,thenp (2\/5) is equal to


https://dl.doubtnut.com/l/_P6oVCzWZqkOm
https://dl.doubtnut.com/l/_gJvko4lQxFnA
https://dl.doubtnut.com/l/_ooCrnT2Vd0qx

A.O

B.1

C.44/2

D.8v2 +1

Answer: B

° Watch Video Solution

6. The value of the polynomial 5z — 4z* + 3, when x=1is

A —6
B.6

C.2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ooCrnT2Vd0qx
https://dl.doubtnut.com/l/_DVok1PiOQDiP

7.1f P(z) = x + 3, then p(z) + p( — z) is equal to

A. 3
B.2x
C.zero

D.6

Answer: D

° Watch Video Solution

8. Zero of the zero polynomial is

A0

B.1

C. any real number


https://dl.doubtnut.com/l/_DVok1PiOQDiP
https://dl.doubtnut.com/l/_S54bq45ACVd7
https://dl.doubtnut.com/l/_9rZfGnAGw9yt

D. not defined

Answer: C

° Watch Video Solution

9. Zero of the polynomial p(z) = 2z + 5 is

oot ot o

| ot ot o

Answer: B

° Watch Video Solution

10. One of the zeroes of the polynomial 2z% + 7z — 4 s


https://dl.doubtnut.com/l/_9rZfGnAGw9yt
https://dl.doubtnut.com/l/_hszQHzG6Xvk4
https://dl.doubtnut.com/l/_jkoRzqaoBk9h

Answer: B

o Watch Video Solution

1.1f °" + 51 is divided by  + 1, then the remainder is

A0
B.1
C.49

D. 50

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jkoRzqaoBk9h
https://dl.doubtnut.com/l/_dYuopnjD74n3

12.1f & + 1is a factor of the polynomial 22% + kz, then the value of k is

A -3
B.4

C.2

Answer: C

° Watch Video Solution

13.z + 1is a factor of the polynomial

Azd+2? 241
B.:IZ3—|—£L‘2—|—33—|—1

C.x4+x3+x2—|—1



https://dl.doubtnut.com/l/_dYuopnjD74n3
https://dl.doubtnut.com/l/_AJykmgAmM651
https://dl.doubtnut.com/l/_hE8M8nlWYz4o

D.x4+3x3—|—3x2+m—|—1

Answer: B

° Watch Video Solution

14. One of the factors of (252° — 1) + (1 + 52)% is

Adb+zx
B.5—=x
C.hz —1

D. 10z

Answer: D

o Watch Video Solution

15. the value of 249> — 248% is


https://dl.doubtnut.com/l/_hE8M8nlWYz4o
https://dl.doubtnut.com/l/_8a3IfmZeWNbQ
https://dl.doubtnut.com/l/_mMQfeTI05sx4

A 12

B.477

C. 487

D. 497

Answer: D

o Watch Video Solution

16. the factorisation of 422 + 8z + 3is

A(x+1)(z+3)
B.(2z + 1)(2z + 3)
C.(2z + 2)(2z + 5)

D. (2 — 1)(2z — 3)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_mMQfeTI05sx4
https://dl.doubtnut.com/l/_YYd1EdPzu0MP

17.which of the following is a factor of (z + y)° — (2® + y*)?

A z? + y2 + 2zy

B.az2+y2—a}y

Answer: D

° Watch Video Solution

18. The coefficient of z in the expansion of (z + 3)°is

Al
B.9

C.18


https://dl.doubtnut.com/l/_YYd1EdPzu0MP
https://dl.doubtnut.com/l/_WDqO4zXBQHY0
https://dl.doubtnut.com/l/_WeGzE2kBq5uM

D. 27

Answer: D

° Watch Video Solution

19. if% + % = —1(z,y # 0), then the value of z* — 3* is

Al

Answer: C

° Watch Video Solution

1 1
20.1f49z% — b = (71: + 5) (7x — 5), then the value of b is


https://dl.doubtnut.com/l/_WeGzE2kBq5uM
https://dl.doubtnut.com/l/_uLtGE741ogO9
https://dl.doubtnut.com/l/_x42UDlECMzwI

Answer: C

o Watch Video Solution

21.If a+b+c=0, then a® + b + ¢’ is equal to

A.O
B. abc
C.3abc

D. 2abc

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_x42UDlECMzwI
https://dl.doubtnut.com/l/_EfVAYxvYw6pf

Exercise 2 2 Very Short Answer Type Questions

1. which of the following expressions are polynomials ? Justify your

answere,

(i) 8 (i) /32~ — 22 (i)l — /5

, (z—2)(z—4), 1
(iv) — + 5z + 7(v) . (vi) ]
(vii)la3 - ia2 + 4a — 7(vzzz)i

7 \/§ 2x

° View Text Solution

2. write whether the following statements are true or false , justify Your
answer.

(i) A binomial can have atmost two terms.

(ii) Every polynomial is a Binomial .

(iii) A binomial may have degree 5.

(iv) zero of a polynomial is always O.

(V) A polynomial cannot have more then one zero.


https://dl.doubtnut.com/l/_EfVAYxvYw6pf
https://dl.doubtnut.com/l/_ml6eY9KxTbCe
https://dl.doubtnut.com/l/_DHsJm3uzDWAE

(vi) the degree of the sum of tum polynomals each of degree 5 is wlways .

5

° Watch Video Solution

3. Find the zeroes of the polynomial ineach of the followning .
(i) p(x)=x-4 (ii) g(x)=3-6x

(iii) g(x)=2x7 (iv) h(y)=2y

° Watch Video Solution

4.Find the zeroes of the polynomialp(z) = (z — 2)* — (z + 2).

A0

B.2

D.1


https://dl.doubtnut.com/l/_DHsJm3uzDWAE
https://dl.doubtnut.com/l/_KW6hBsunBp8s
https://dl.doubtnut.com/l/_MC6SOyQQetOj

Answer: A

° Watch Video Solution

5. BY actual division , find the quotient and the remainder when the first

polynomial is divided by the second polynomial z* + 1 and = — 1.

o Watch Video Solution

6. BY Remainder theorem , find the remainder when p(x) is divided by g(x)
(i) p(x) =23 — 2% — 4z —1,9(x) =2 +1 (ii)

p(z) = > — 32% + 42 + 50, g(z) =z — 3

o Watch Video Solution

7. check whether p(x) is a multiple of g(x) or not
(i) p(z) = z* — 52® + 4z — 3,9(z) == — 2.

(i) p(z) = 22° — 112® — 4z + 5, g(z) = 2z + 1


https://dl.doubtnut.com/l/_MC6SOyQQetOj
https://dl.doubtnut.com/l/_ExKOUD9H1jLi
https://dl.doubtnut.com/l/_q35PT3tvPWWo
https://dl.doubtnut.com/l/_2u0oPUcjtao5

° Watch Video Solution

8. Show that
(i) z + 3is factor of 69 + 11z — 2% + z°

(i) 2z — 3 is factor of z + 2z° — 922 + 12

° Watch Video Solution

9. Determine which of the following polynomial has x-2 a factor

(i) 322 + 62 — 24 (i) 42> + = — 2

° Watch Video Solution

10. Show that p-1is a factor ofp10 — land also ofp11 — 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_2u0oPUcjtao5
https://dl.doubtnut.com/l/_vf9b8GchCMxv
https://dl.doubtnut.com/l/_wiBacDcHoPxd
https://dl.doubtnut.com/l/_ka1H2tRFhb2f

11. For what value of mis &3 — 2ma? 4 16 Divisible by x+2 ?

C.1

D.8

Answer: C

o Watch Video Solution

12. If x + 2a is factor of z° — 4a’z® + 2z + 2a + 3 , then find the value

ofa.

o Watch Video Solution

13. Find the value of m, so that 2x-1 be a factor of

8zt + 423 — 1622 + 10+ m.


https://dl.doubtnut.com/l/_AjxmedJrjsWY
https://dl.doubtnut.com/l/_xrpgR9PcdyiI
https://dl.doubtnut.com/l/_qnrH6r9pINW6

° Watch Video Solution

14.1f x+1is a factor of az® + 2% — 2z + 4a — 9, then value of a..

B.O
C.6

D. 2

Answer: D

o Watch Video Solution

15. Factorise
(i) 2% + 9z + 18 (ii) 62> + 72 — 3

(ii3)2x> — Tz — 15(iv)84 — 2r — 22

o Watch Video Solution



https://dl.doubtnut.com/l/_qnrH6r9pINW6
https://dl.doubtnut.com/l/_6oEfVszOcnnG
https://dl.doubtnut.com/l/_g1Mw4OuZw0XK

16. Factorise
(i) 223 — 32% — 17z + 30 (i) z° — 622 + 11z — 6

(i)z® + 22 — 4z —4(iv) 322 — 22 — 3z + 1

° Watch Video Solution

17. Using suitable identity, evaluate the following

(i) 1033 (ii) 101 x 102(iii) 999

° Watch Video Solution

18. Factorise the following :

(i)4z* + 20z + 25 (1)9y? — 66yz + 12122 (i44) (2x + %

° Watch Video Solution



https://dl.doubtnut.com/l/_V4MqqSLAv5gr
https://dl.doubtnut.com/l/_53ZxsK8wa0Tz
https://dl.doubtnut.com/l/_vvhLysAkMXbW

19. Factorise the following

(V922 — 12z + 3 (ii) 92> — 12z + 4

° Watch Video Solution

20. Expand the following
(i) (4a — b+ ac)? (i) (3a — 5b — c)?

(i) ( — = + 2y — 32)°

° Watch Video Solution

21. Facorise the following
(i) 922 + 4y? + 162 + 122y — 16yz — 24z 2
(i) 252% + 16y? + 422 — 40zy + 16yz — 20z 2

(iii) 1622 + 4y® + 922 — 162y — 12yz + 24zz

° Watch Video Solution



https://dl.doubtnut.com/l/_idf1JGsOds5G
https://dl.doubtnut.com/l/_3IMkghER6AWn
https://dl.doubtnut.com/l/_iZC5LKOFfFOd
https://dl.doubtnut.com/l/_3VxoATeXwFq6

22.if a +b+c=9 and ab+bc+ca=26,find a® + b + .

o Watch Video Solution

23. Expand the following

(i)(3a — 2b)3(ii)(% N %)3010 (4_ 3%)2

° Watch Video Solution

24.Facorise the following

12 6 1
N1 3 2 (i 3 2 S
(i) 1 — 64a° — 12 + 48a” (ii) 8p° + =P + 25p+ 195

° Watch Video Solution

25. find the following products

(i) (5 +2) (%2 —ay+ 4y2>(ii) (22— 1) (z* + 2* + 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_3VxoATeXwFq6
https://dl.doubtnut.com/l/_Kwwvx9qZhjav
https://dl.doubtnut.com/l/_tWS4DBFobL3f
https://dl.doubtnut.com/l/_3Lyxpaw3atS5

26. Factorise

(i) 1 + 642°(ii) a® — 2,/2b°

° Watch Video Solution

27. Find the

(2z — y + 32) (42® + y* + 92° + 22y + 3yz — 622)

product:

° Watch Video Solution

28. Factorise (i) a® + 8b® + 64¢® — 24abe

° Watch Video Solution

29. without actually calculating , the cubes , find the valuse of

(i) (%)3 + (%)3 - <%)3(ii) (0.2)* — (0.3)* + (0.1)®

| nlll,L,l,\'!,l,, o~ _01_ _an°* _


https://dl.doubtnut.com/l/_RGkAGVFkDYkY
https://dl.doubtnut.com/l/_mfLsY8XmEUJs
https://dl.doubtnut.com/l/_FWRFuv2zMZOV
https://dl.doubtnut.com/l/_egE3WPSVLIx7

L T vvaldn video o>01ution )|

30. Factorize : (z — 2y)° + (2y — 32)° + (32 — 2)°

° Watch Video Solution

31. Find the value of : (1)z® 4 ¢® — 122y + 64 when z +y+4 =0

(2)z® — 8y® — 36zy + 216 whenz — 2y + 6 = 0

° Watch Video Solution

32. Give possible expression for the length and breadth of the rectangle

whose area is given by 4a® + 4a — 3.

° Watch Video Solution

Exercise 2 3 Very Short Answer Type Questions


https://dl.doubtnut.com/l/_egE3WPSVLIx7
https://dl.doubtnut.com/l/_NT7VFfT8wBrh
https://dl.doubtnut.com/l/_qpORWuJAe8mP
https://dl.doubtnut.com/l/_Fbl6OIxWxYK3

1. Classify the following polynomials as polynomials in one variable , two
variables etc.
Maz? +z + 1 (i) y> — 5y

(i) xy + yz + 22 (iv)z? — 2zy + y2 +1

° Watch Video Solution

2. Determine the degree of each of the following polynomials.
(i) 2x-1 (i) -10

(i) 2* — 92 + 32° (W) (1 — 3?)

° Watch Video Solution

x3 + 22 +1 7,
_ — —=

6 .
— x° then write
5 2

3. For the polynomials
(i) the degree of the polynomial (ii) the coefficient of z°

(iii) the coeficient of z0 (iv) the constant term

° Watch Video Solution



https://dl.doubtnut.com/l/_hUrfyRfO8kvV
https://dl.doubtnut.com/l/_KMmAKehzdZDL
https://dl.doubtnut.com/l/_YlC5KLSsbVVE

4. write the coefficient of 22 in each of the following
LT 2 ..
(i) Em + x* — 1 (ii) 3x-5

(i) (z — 1)(3z — 4) (iv) (2z — 5) (22 — 3z + 1)

° Watch Video Solution

5. Classify the follwing as a constant , linear , quadratic and cubic
polynomials

(i) 2 — 22 + 23 (ii) 323 (iii) 5t — /7

(iv)d — 5y? (v) 3 (vi) 2+x

(vid)y® — y (i) 1 + z + 2*(iz)*(x) (vV2)z — 1

° Watch Video Solution

6. Give an example of a polynomial , which is
(i) Monomial of degreel.
(ii) Binomial of degree 20.

(iii) Triomial of degree 2.


https://dl.doubtnut.com/l/_J0Yl6hcZ71sh
https://dl.doubtnut.com/l/_FoyE9LygmT99
https://dl.doubtnut.com/l/_aHj3DBuoczzN

° Watch Video Solution

7. find the value of the polynomial 3z® — 42* + 7z — 5, , when x=3 and

also when x=-3.

° Watch Video Solution

1
8.1f p(z) = x2 — 4 + 3, then evaluate p(2) — p( — 1) +p<§),

° Watch Video Solution

9. Find p(0),p(1) and p(-2) for the following polynomials

(iyp(z) = 10z — 42® — 3 (i) p(y) = (y + 2)(y — 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_aHj3DBuoczzN
https://dl.doubtnut.com/l/_2AFlltBSjLm4
https://dl.doubtnut.com/l/_myGOHQEgazg3
https://dl.doubtnut.com/l/_uzDxGkosKro4

10. Verify whether the following are true or false . (i) -3 is a zero of x-3 (ii)

1
— — is a zero of 3x+1

3

4
(iii) — T is a zero of 4-5y (iv) 0 and 2 are the zeroes of 2 — 2t

(v)3isazeroofy®> +y — 6

° Watch Video Solution

Exercise 2 4 Long Answer Type Questions

1.If the polynomials az® + 42® + 3z — 4and 2 — 4z + a leave the same

remainder when divided by z — 3, find the value of a.

° Watch Video Solution

2. the polynomial p(z) = z* — 22° + 32® — az + 3a — 7 when divided
by x+1 leaves the remainder 19. find the values of A , also find the

remainder when p(x) is divided by x+2.

l ﬁ Watch Video Solution ]


https://dl.doubtnut.com/l/_I3MlsCr9aPH1
https://dl.doubtnut.com/l/_2snojW3dpXag
https://dl.doubtnut.com/l/_ltpBHW90Tp1F

1
3.if both x-2and x — 5 are factors of pz? + 5z + r. then show that p=r.

° Watch Video Solution

4. Without actual division, prove that 2z* — 5z3 + 222 —xz + 2is exactly

divisible by 2% — 3z + 2.

° Watch Video Solution

5. Simplify :(2z — 5y)® — (2z + 5y)°

° Watch Video Solution

6. Multiply: z? + 4y* + 22 + 2zy + zz — 2yzbyz — 2y — 2

° Watch Video Solution



https://dl.doubtnut.com/l/_ltpBHW90Tp1F
https://dl.doubtnut.com/l/_qa15OefNJ3qV
https://dl.doubtnut.com/l/_AnvfqoYENrnA
https://dl.doubtnut.com/l/_wlQE0u1L6QMS
https://dl.doubtnut.com/l/_OhIlAIWxCSQY

7. if aand c are all non zero and a+b+c=0 , then prove that

a? b2 2

be ac ab

° Watch Video Solution

8 If a+b+c=5 and ab+bc+ ca =10, then prove that

a® + b+ — 3abe = — 25.

° Watch Video Solution

9.Prove that (a + b+ ¢)> — a® — b — & = 3(a + b) (b + ¢)(c + a).

° Watch Video Solution



https://dl.doubtnut.com/l/_mA0qlfhYENnQ
https://dl.doubtnut.com/l/_WYbQWsd2whBd
https://dl.doubtnut.com/l/_AmIJ0x114KEK

